1

R Y B >» Dimensions

hZE R 1715 HERZE T

L:JIEITHEE

L :Longer stroke

R Y B » Dimensions

PER HIGH SPEED HOLLOW ROTARY HYDRAULIC CYLINDERS
ZE5H [BX 5B §5 E1

W
T
TEEE 3 ol
o) Ao TS
30° 1| ¢
=z T~
jor) 1 >0 ¢ <
h Q Q Q| Q| Q| >| T
30 glﬁis 5 Sl&
o =2 L
EE*;F —
J LA\ K
F it ElL ]
B - E L E1
B B
R £% 38 > Specifications BSfiI/UNIT:mm
B /AR TESimEsR c
MODEL Nose Of A B (H6) D E E1 F G H H1 11
/ SPEC. Spindle
OP-206L A5 173 87 140 82.563 15 - 5 116 104.8 PCD290 3-M8x1.25P
OP-208L  A:6(A:-5) 215 103 170 106.375 17 23 5 150 133.4 PCDg120 3-M8x1.25P
OP-210L  A:-8(A:-6) 256 112 220 139.719 18 28 5 190 171.4 PCDo160 3-M12x1.75P
OPT-206L A5 173 87 140 82.563 15 - 5 116 104.8 PCDo145 6-M10x1.5P
OPT-208L  A:-6(A-5) 215 103 170 106.375 17 23 5 150 133.4 PCD2180 6-M10x1.5P
OPT-210L  A:-8(A-6) 256 112 220 139.719 18 28 5 190 171.4 PCD@225 6-M12x1.75P
BT\ /78S
OP-206L PCDg140 3-M8x1.25P 45 6-M10x1.5P 15 20 39.07 33.46 21.05 10.55
OP-208L PCDg170 3-M8x1.25P 52 6-M12x1.75P 21 25 47.85 39.66 25.05 14.55
OP-210L PCD@220 3-M12x1.75P 75 6-M16x2P 22 30 61.34 52.06 29.05 12.55
OPT-206L -- - 45 6-M10x1.5P 15 20 39.07 33.46 21.05 10.55
OPT-208L - - 52 6-M12x1.75P 21 25 47.85 39.66 25.05 14.55
OPT-210L - - 75 6-M16x2P 22 30 61.34 52.06 29.05 12.55
‘ . - p—
2SS p P o a s 1w v w  x vy  Tnurde runger
I SPEC max. min. [Diameter]  Stroke
’ (mm) (mm)
OP-206L 11 -4 31 12 19 2 M55x2P 20 375 73 - 45 15
OP-208L 14.5 7.5 35 14 20.5 2 M60x2P 30 39.5 95 104.8 52 22
OP-210L 8.5 -16.5 40 16 25 2 M85x2P 40 43 110 133.4 75 25
OPT-206L 11 -4 31 12 19 2 M55x2P 20 375 73 - 45 15
OPT-208L 14.5 7.5 35 14 20.5 2 M60x2P 30 39.5 95 104.8 52 22
OPT-210L 8.5 -16.5 40 16 25 2 M85x2P 40 43 110 133.4 75 25
T2 = i =iz RARTE -
. P _ BRARLT] RARFRITS] X0 - faic "
B2 /RS (BfE) S ISHELL S Max. Pul Max. Gripping EREE /) PE mERRy  UTEE
MODEL  JawStoke  MaxSpeed Force Force Max. Hydr. Weight  “Matching ~ Gripping
b lameter in-1 res k . Ran
(mm) r.p.m.(min") kgf  (kN) kgf  (kN) kgflem:  (MPa) (kg) Cylinder ange
OP-206L 10.8 4300 2140  (21) 4080  (40) 28 (2.7) 14.9 P1246 220~0173
OP-208L 16 3500 3360 (33) 5910  (58) 26 (2.5) 37 P1552 225~0215
OP-210L 18 3000 4280  (42) 7540  (74) 27 (2.6) 40.6 P1875 240~0256
OPT-206L 10.8 4300 1420 (14) 2650  (26) 185  (1.8) 14.5 P1246 220~0173
OPT-208L 16 3500 2240  (22) 3870  (38) 17 (1.7) 26.4 P1552 225~0215
OPT-210L 18 3000 2850  (28) 4990  (49) 18 (1.8) 39.5 P1875 240~0256

w U v w U \
E1 5‘1__ Al B1 z B R AL B Z F2
W1
Wi [ 1= =4
LZ§ T R ,,,I__
| | o ZI)|
- EEERE R e e M P P R L PP S e s B E TR
—— 2 ] Q - C1
: ~ o il
'_
2X2-S1 =) Lt I 1
2X2-81 | X
= . 2X2-S1 \—/‘ F1 H
PT1 /&5 é?g
26 PT1-1/4" | 40
Gl P2916,P3420 % G
*5 1% 32 > Specifications BB {{[/UNIT:mm
B/ ARAS E
MODEL B1 CcC C1 D Di (h7) E1 F F1 F2 G G1 H J J1 K K1 L1
/ SPEC.
P0928 9 109 120 25 100 -- 80 8-M5x0.8P 60 6-M8x1.25P - 45 114 M38x1.5P 28 60 25 46 15
P1036 11 120 136 25 115 - 100 6-M5x0.8P 65 6-M10x1.5P - 48 126 M42x1.5P 36 66 32 46 15
P1246 12 1265 155 30 130 - 100 6-M6x1P 80 12-M10x1.5P - 65 133 M55x2P 46 76 36 46 15
P1552 12 136 190 30 170 - 130 6-M6x1P 85 12-M10x1.5P - 70 145 M60x2P 52 87.5 36 46 15
P1875 17.5 154.5 215 35 190 - 160 6-Méx1P 125 12-M10x1.5P - 95 1635 M85x2P 75 101 36 46 15
P1878 17.5 1545 215 35 190 -- 160 6-M6x1P 125 12-M10x1.5P - 98.5 163.5 M87x2P 78 101 36 46 15
P2091 21 168 240 35 215 -- 180 6-M6x1P 140 12-M12x1.75P - 110 183 M100x2P 91 110 36 46 15
P2093 21 168 240 35 215 - 180 6-M6x1P 140 12-M12x1.75P - 115 183 M103x2P 93 110 36 46 15
P2511 21 180 310 45 275 -- 230 6-M6x1P 166 12-M16x2P - 140 190.5 M130x2P 120.1 135 40 46 15
P2916 22 201 345 45 298 305 260 6-M8x1.25P 220 12-M12x1.75P 12-M16x2P 195 229 M180x3P 166.5 180 50 60 15
P3420 22 223 405 45 360 - 320 6-M8x1.25P 260 12-M20x2.5P - 235 247 M220x3P 205 210 50 60 20
P2916L 22 217 345 45 298 305 260 6-M8x1.25P 220 12-M12x1.75P 12-M16x2P 195 245 M180x3P 1665 180 50 60 15
BUT /FRAS v v w w
MODEL M M1 N N1 P P1 Q Q1 R1 S Si T T U ()] : W1 ) X1
max. min. max. min.
/ SPEC.
P0928 34.6 34 44 53 59 4 64.8 4-M4x0.7P(PCDo76) 5 95 PT1/4 105 4 159 137 9.05 -0.95 33.95 M34x1.5P 23.95 31.8
P1036 44 .6 38 55 64 73 6 80 4-M5x0.8P(PCDe88) 5 105 PT3/8 115 6 179 154 10 -5 39 M44x1.5P 24 42
P1246 52.9 50 64 76 85 4 90 4-M5x0.8P(PCDg98) 6 116 PT1/2 115 6 184 172 10 -5 40 M52x1.5P 25 50
P1552 596 55 73 85 96 4 102 4-M6x1P(PCDo110) 7 137 PT1/2 130 6 196 210 17 -5 47 M58x1.5P 25 56
P1875 84.6 80 98 108 121 4 131 4-M6x1P(PCDg155) 7 165 PT1/2 160 4 230 235 20 -5 50 M84x2P 25 81
P1878 84.6 83 98 108 121 4 131 4-M6x1P(PCDg155) 7 165 PT1/2 160 4 230 235 20 -5 50 M84x2P 25 81
P2091 99.6 95 108 120 138 4 147 4-M6x1P(PCDo165) 7 180 PT1/2 185 6 253 260 25 -5 55 M99x2P 25 96
P2093 99.6 100 108 120 138 4 147 4-M6x1P(PCDo165) 7 180 PT1/2 185 6 253 260 25 -5 55 M99x2P 25 96
P2511 134.6 125 148 160 178 4 184 4-M6x1P(PCDg206) 7 233 PT1/2 210 7 270.5 -- 24 -6 55 M134x2P 25 131
P2916 185 176.5 210 224 244 5 250 6-M6x1P(PCDo275) 7 310 PT3/4 2625 6 308 -- 24 -6 65 M185x3P 35 180
P3420 225 210 250 264 284 5 290 6-M6x1P(PCDo315) 7 365 PT3/4 300 6 334 - 36 -6 77 M225x3P 35 220
P2916L 185 176.5 210 224 244 5 250 6-M6x1P(PCDw275) 7 310 PT3/4 2625 6 324 - 36 -6 77 M185x3P 35 180
s . =<3 =e EEEE =AML
BT /ARG BEITRE smmms smag Bel o) {EFAEE/)  Piston Area(cm?) Max. Operating Force pE
MODEL z SPtlfé?(g Max. Speed  Piston g?cl’rrg?t?; Leakage Max. HEZDMBI RIZOMA HETIEI AI7JE Weight
/ SPEC. r.p.m.(min™) Dia(mm) > Rate Pressure Push Pull Push Side Pull Side (kg)
(mm) (kg'm)  (pimin) kgtlcm? (MPa) Side  Side kgf  (kN)  kgf  (kN)
P0928 5 10 8000 20 0.008 3.0 40 (3.9) 54 475 2000 (19.6) 1750 (17.2) 6.5
P1036 5 15 8000 105 0.012 3.0 40 (3.9) 70 68 2500 (24.5) 2400 (23.5) 9.0
P1246 5 15 7000 125 0.019 3.0 40 (3.9 100 89 3700 (36.2) 3200 (31.3) 11.9
P1552 5 22 6200 155 0.053 3.9 40 (3.9) 160 150 5900 (57.8) 5500 (53.9) 17.3
P1875 5 25 4700 180 0.096 4.2 40 (3.9) 198 183 6900 (67.6) 6400 (62.7) 26.1
P1878 5 25 4700 180 0.096 4.2 40 (3.9 198 178 6900 (67.6) 6200 (60.8) 255
P2091 5 30 3800 205 0.16 4.5 40  (3.9) 252 235 8200 (80.4) 7700 (75.5) 33.3
P2093 5 30 3800 205 0.16 4.5 40 (3.9) 252 226 8200 (80.4) 7400 (72.5) 32.9
P2511 6 30 2800 250 05 7.0 40 (3.9) 348 336 11800 (115.7) 11400 (111.8) 56.1
P2916 6 30 2000 290 1.6 11 38  (3.7) 391 361 11700 (114.7) 10500 (103) 96.1
P3420 6 42 1600 340 3.2 14 35  (3.4) 510 474 14300 (140.2) 13300 (130.4) 138.5
P2916L 6 42 2000 290 16 11 38  (3.7) 391 361 11700 (114.7) 10500 (103) 100.4

e BIEUESE- [ 7] : 30kgf/cm?(2.94MPa) B : 50°C

Test standard of oil leakage: Pressure-30 kgf/cm?(2.94MPa), Oil temperature-50°C

12



